AP Calculus AB Name K t\/
Optimization Worksheet #2 !

1. An open cylinder (has a bottom, but no top) has a volume of 8n cubic feet. What dimensions minimize
the surface area?
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3. A 384 square meter plot of land is to be enclosed by a fence and divided into two equal parts by another

fence parallel to one pair of sides. What dimensions of the outer rectangle will minimize the amount of
fence used? -
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4. A closed rectangular box with a square base has a volume of 252 cubic feet. The wood for the bottom
costs $5.00 per square foot and the top costs $2.00 per square foot. The sides costs $3.00 per square foot.
What dimensions will minimize the cost of the wood?
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